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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 o r scafaT F Ny & 2R F eT Y gERa

Oparin’s theory about ‘Origin of life” is related to:
e, Trarates e

chemical evolution

X2 St faerrm
biological evolution

s sitfaes e
physical evolution

x4 SRA RFwE

artificial evolution

Q2 gras A § 9l AR 3 HT T ARG IS 7 2017 7 oy on

‘Which Indian economist wrote the 2017 book ‘T Do What T Do*?

Ans _ m :g?r

v
Amartya Sen
- BT e
<2
Urjit Patel

o d AqAET Og

Manmohan Singh

75 4.
Raghuram Rajan




Ans

e TR AT AR iR I a s FRr=F
Fe @1 Fue goeT T

HUA:
PQR % AW +F 7 &7
qFd<d:
1. ABC, BCD #r g2iiam &; DEF, EFG &I Zifar 1

2. LMN, MNO & Z3fiar §; OPQ, PQR & gafir g1
Consider the given question and decide which of the following statements is sufficient to

answer the question.

‘What is the code for PQR?

Statements:

1. ABC represents BCD; DEF represents EFG.

II. LMN represents MNO; OPQ represents PQR.

.

BT AT W @ 3caT & & AT 1 30RAT WA &, @0 2 3RT 9T a4
2l

I alone is sufficient while II alone is not sufficient to answer the question.

> 2

f&T T Woed T e & & AT 2 37eher g g, Safeh 1 3mher
2l

I alone is sufficient while I alone is not sufficient to answer the

x 3
fow 717 I3 T 3= &= & fAw

Both I and IT are sufficient to answ

v )
fer 71T 19T 1 3] 2= & T

Either I or IT is sufficient to answer the q

Q.4




Ans

Distribution nfuarinm Minerals in Human Body

Mig‘nesllm
*Caiciom  ® Magnesum +

Distribution of various minerals in the human body- AT T & Rfer=

etew &1 R
Calcium- Ffexrmd
Magnesium- HehfRrms
Iron- <TgT

Potassium- Sref¥rmar
Sodium- FfETw

T T AE AT o F wiEsr #r AT o e g B v
HHEl & HUN 9T, AT 9T H 90 AT T Hewaw 3 @ifzam

T AT FT &2

Distribution ufvuriuus Minerals in Human Body

Magnesum
»lachom = Magnesim =

The given graph shows the distribution of min

Based on the given data, what is the ratio of calcium

<13
<22
<35
4

—t el ek ek

Q.5 2w\ 75,000 F U THTE = HT10% TS &7 W a2

Ans

%Inﬁ"ﬁ

F dre, AFF @ T 1,655 3 9ied @i Tl a o AT AT S
Shams invested T 5000 at 10% per annum compound interest. After n years, Shams

received ¥ 1655 more. Find the value of n.

x1.4?ﬂ§

4 years
3ay
3 years

x&zaﬁ

2 years

?(413&

1 year

v 3

Q.6

Ans

gt i cafeaeg &A1 # §9T @ AT 39 Reie # e F e

ofeaT # ¥ i J 3T 82

‘Which of the following is necessary to maintain the number of individuals of species and

to prevent their extinction?

EECcl
1.
Reproduction




98
' Circulation
EEIC]
> Digestion
WTHA
* Respiration

52

Q.7 = WftTd FesE & 99 § 9 O & 7o ¥ e afg g & ar
FIFHT 3eE T §?

What product is formed when electricity is passed through an aqueous solution of sodium
chloride?

X1 oifzaw 3ifemEs
Sodium oxide

72 wifsas FsgiaaEs
Sodium hydroxide

xg_'@nﬁuﬂaﬂ'{ﬁnﬁﬂ

Sodium and chlorine
x4 BfETH 3T qE=T

Sodium and water

Ans

Q.8 20 N T ve & UeF g &I 2 Fied e ot &1 § 3R 200 S atar £ 84 3R
T F A R

A force of 20 N displaces an object through 2 m and does a work of 20 J. The angle
between the force and displacement is:

Ans X 1. g(°
< 20°
< 3.30°
v 4 60°

Q.9 zrzafFaai A 3B H AT H 16 T FT AT F| 6 T Tgel, 72 SAierd Bl AL ST

Zafere &1 3R] 0 3 AT off| A 3 B H & T 31 a1t suterd 3 3 e 87

The ages of A and B differ by 16 years. If 6 years ago, the elder one was 3 times as old as
the younger one, find the present age of the younger between A and B?

Ans
x 1 15 a9

15 years

xz_uaér

11 years

f 1299
12 years

14 I
14 years

x

v

Q.10 3fg et g & Toraly i 3 WERfeR & 9eT fGam Sar gt 30 Haad 657
o HERAER 96 S| 0 & TAd A F Hq oS e 87

If the edge of a cube is increased by 3 cm, the volume will increase by 657 cm®. What
then is the original length of each edge of the cube?

Ans xlaqia:ﬂa

8 cm




Q.11 uep arffar 72MeT T fashar Fewr SUP I Ao 1;_ HEERIGHREISEIEM

The S.P of a washing machine 1s 1; of its C_P. Find the gain percent.

Ans

X 66%%

X 2.33%
X 3. 66%

o 2 33k
3

Q.12 2017 & @i dger @/l eliRfid U a0 Av Ugiss U9 &1 A1 4T §?

What is the name of the new Android App that has been launched by Sachin Ten
20172

Ans v 100 THET
100MB

gf=

Sachin

xs TH.IRCL

SRT

AT Hag

Aamchi Mumbai

013 gt el o At ¥ i swE
Ice floats on water because its density i

Ans xltnﬂr:?raqﬁmi.ﬁm%

52

F

more than water

X o+ BT &

(2%

Zero
, e & HATT BT &
same as water

I HRHEAT g

less than water

x

v

Q.14 Zr Tt Fr Fer % ?lﬂﬁsﬂﬁﬂmgﬁ,a’rmmmﬁmﬁmﬁ?

The sum of two fractions is%. One of them is j—. What is the other fraction?

Ans 1
1. —
« 12
>~ 2
xX 3

2l wir




1
4. =
s

Q.15 T 37 EFT T MU T 4 T H #T THaT § | AT HTe 870 3 915, S @ F
e 3t E wie R S E| e i qutE: ste & R e e weEa aeem

Raghu’s tanker can fill a cistern in 4 hours. After half the cistern is filled, three more
similar tankers are opened. What is the total time taken to fill the cistern completely?

Ans 3EeE

Q.16 =l & & & e aoi7 ¥ 9 o = gaar § 3k 7= sk
eI & AT 82
Which of the following gases makes bread or cake rise making them soft and spongy?

Ans  of 1 co,
<20,
< 3 H,
X4CO

Q.17 37 e &1 99F &L A @0

Axs|-o0|s-c|o=0O
Dso|cos|O-a|%%0

A B C D
Select the option that does NOT belong in the foll

Axs|-00|s-c|o=-D
nso|cos (O-A|%%k0D

A B iC D

Ans X1_D
X 2B
Xs3C
v A

Q.18 =& F15 I¥g, == # o & 1 A F gfr W IN 907 F gaww For § &
T a7 FRr T AR R 87

What is the amount of work done when a body moves under a force of 1N at a distance of
1metre in the direction of the force?

Ans 100
o 100 5w

100 Joules

1 S
2 "

1 Joule
10 ST

10 Joules

>3




0.01 Sled
4.
0.01 Joules

Q.19 BT 717 IFaedl FF T A T T AT I8 97 F{ & T T (T@0) ey
FFdedl F THENT FT F HFET (FIT §) FS B

dadcy:
mfr w5 wEfat §| e asfear aeT
ey

1. meftr §eT o= Bl

2. mefr o= &1 B

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
All boys are girls. All girls are monkeys.

Conclusions:
1. All monkeys are boys.
2. All boys are monkeys.

Ans X1.1 3T 2 3= e @ FS g

Neither 1 nor 2 follows.
Fae oy 1 3TEOT T B
2.

Only conclusion 1 follows.
 erer ey 2 HeTauT & ¢
| Only conclusion 2 follows.
1 3R 2 et sreetor #d &
Both 1 and 2 follow.

<
v

x

Q.20 [aTTer YW1 & 9R F & 9 off U OIS S SNy F97 E@ar g P

Why does a sprinter keep running even after crossing the finishing line?

Ans x1_
feerar &1 Ssar 3% Iea & o $o 77T o 8

Inertia of rest takes some time to make him stop.
It T F=ZAT 3T HET TG 2
Inertia of motion keeps him moving.
r.
IE TE FARTT FIAT TEaT ¢ & 38T W F U F= w7
He wants to make sure that he crosses the line.
x4
3T FA HN A & A udOT SHE [ § 3 S H HNOT ST § |

Friction between his shoes and the ground causes him to move beyond the line.

Q.21 wiger 7 smaifoE Aerw giHr 9o7 FRh T 2016 F TIRAT H NS
FUT HieT A gar R 5= oam

‘Which team won the 2016 Champions Trophy Men’s Hockey tournament defeating India
in the finals in London?

Ans u
ACE
Netherlands




el
Spain
W 3 <
Australia
x o, FEGET
USA

K2

Q22 yryfees smad ARON &, v TO-AS W R e w2
In the Modern Periodic Table, a zig-zag line separates:

Ans (1m§3ﬁ$‘r3m1§3ﬁ$r

metals from non-metals

, i3t F AceasE ¥
metals from metalloids

. It F ATAasH
non-metals from metalloids

) Tt F gelrerat §

metals from halogens

x

<

x

02353-ﬁT§EFrI|’I?Tﬁ : %_9

8
5 8.
The sum ofgandgls:

Ans x T E
40

vz

40

Xa 2

13

X2

40

Q.24 A 3T B fordl & &t 20 AT & @ATT #T TWeha &, B ailr C et 30
et & wafd C 3t A et 24 BET & g7 w0 81 B 3k C va@=w
37T HeTT Tohdel il 3 A T TACT Hie?

A and B can complete a task in 20 days, B and C can complete it in 30 days while C and A
can do the same task together in 24 days. How many days will each of B and C take to

complete the task individually?
Ans

1 50 3T 54
50 and 54

v 48 3T 80
48 and 80

X3 56 3T 64
56 and 64

x4 54 3T 72
54 and 72

Q.25




30 T W W T4 HY, S Reef@a 39 s it g g

A

Select the correct set that represents the following Venn diagram.

(® o

Ane K1_Elma1ﬁra1?rslmﬂ. M, B
Grass-eating animals, cows, deer

| I W AR SR, a,
Grass-eating animals, goat, buffalo

¢3ﬂi¥rmﬁrm€rm,m,m&

x

Flesh-eating animals, tigers, cows
, T W ale S, &, 2R
Flesh-eating animals, tigers, lions

x

Q.26 wem F 42 orEr # Afed &1 IR @ dEwar I & | A9 & su w7
grm?

Nitin ranks 23rd from the top in a class of 42. What will be his rank from the last?
Ans 274t
rF 8
27th

Q.27 e=fer &1 waar, St aEde Sfafes & 9o g §, S T FEr ST &7

The repeated reflection that results in persistence of sound is called:

- », CIGECIC]

' reverberation

%o B
echo

s ICECIET L
rarefaction

p SISIEE
reflection

Q.28




A= o B e Bl 7 93w T oF g Ye & ageor s
¥ 30 RweT =1 997 &1 & B C & Re ov dew REw () F a5 FFar
T

o o] ]
Lelm]  [w]o]
A B C

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

:Am\ %LI ?cn
ans X161
< 221

v'316
<4 81

O P #§ @ T @ 1t SrHEd YaIT HE?
Which of the following will yield a recurring decimal?

Ans ‘,1. E

90

xz 21

120

X2

30

K2

60

Q.30 schwr 7 & v 3, e =ger @ 2017 & fow W 7w R &
wraer fam ¥ i B aw A aTEe 82

Gurinder Chadha, a Britisher of Indian-origin, has been honoured with the Sikh Jewel
Award for 2017. In what line is Gurinder famous?

Ans v fohes forAToT
 Film-making
X2 als (vereifera)
Athletics
. TR
Journalism
x e

Medicine

x 3

QN gRrY X F s g Y ZFmaagarzFRar X FaFmr ¥ ?
IfY is the brother of X, Y is Z’s son then 7’s fatheris X°s

Ans HAT

x 1 3
Father-in-law
alar

Grandfather
rar

X 3
Father




x4wmmﬂt§mrf$ﬁmm

Uncle

Q.32 37 fyehreq &7 04 +i A AT AT Ferent & B 2
Select the option that is different from the remaining three alternatives.

Ans ?( 1. XyZW
< 2 mnol
W 3 ponm
X 4 ghif

QB RT TR A IR T i wmasa @ FRr=a e
FIT T T AT ¢l

I
e oT A w147 R i wm e

FU:
1. 7= & sifaw fee e
2. 7T & =ty afeE 257§

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What day is the 14% of a given month?
Statements:

1. The last day of the month is Sunday.
2. The fourth Saturday of the month is 25%.

Ans ‘,1.
Pl FUF 2 TUCT § T bl 1 S JFTT gl

Statement 2 alone is sufficient while 1 alone is insufficient.
s, T ar FUT 1 gITeT § a1 2
Either statement 1 or 2 is sufficient.
X3 2T FuF 1 3T 2 9T gl
Both statement 1 and 2 are sufficient.
F T
AT FUF 1 TATT § TS el U 2 FTART gl

Statement 1 alone is sufficient while statement 2 alone is insufficient.

Q.34 afy "&ar x3451, 3 T e § @ x U 3k g af x & '@l "Hea AE” #
TP AT & HehaT &7

If the number x3451 is divisible by 3, where x is a digit, what can be the sum of all such
values of x?

Ans X' 1.16
X214
v 15
X411

Q.35 e arferst & 15 FaToll F7 7T (434 + x) B T A  Arew x B, A x F AW A
grRm?

The sum of 15 observations of a data is (434 + x). If the mean of the data is x, then the
value of x is

Ans ?( 1. 27
W2 31
<325
X 433




Q.36 i el < I 50 Hiey gherorafgmd §, 3 fier Har I 50 ey gEorgd
2, o Ser SEer & g & B Rer & 2

If Kamala is 50 m south-west of Neeta, and Rita is 50 m south-east of Neeta, then Rita is
1n which direction with respect to Kamala?

e o IR
North-west
qigaH
West
Vs i

East

North-East

K2

x

Q.37 =fg 10 0% v wiokiuw # 1.5 TR $1 Rigga oW w6 e § a1 faee
# it F=r @ AT ey 2t

If a current of 1.5 A is maintained in a resistor of 10 (2, then the energy dissipated in the

resistor in 1 minute will be:

Ans 1350 91

1350 W
15 1T

15 W
135 91

135 W
22 59T

22.5W

Q.38 g% W emwEs RER #T k o St & swE A R siE @ aees
Tay d

o
TR WEN o 2G FHEEH @1 SAent F ST AT e w1 a6 fam

ECCICH

L}

1. 3Te IR HAET AT FA el |

2. ol ar Hendr = A8 o |
Consider the Argument and decide which of the given assumptions is (are) implicit.
Argument:
The present government had reduced the base price for auctioning for the 2G spectrum.
Assumptions:

1. Next time price will reduce further.
2. Last time the auction was not good.

o Kmsrr-fﬂsﬂT;r?rzﬁﬂ%?r%

Neither 1 nor 2 is implicit

Faer AT 2 AT 7

Only assumption 2 is implicit
13 2 2 e #

Both 1 and 2 are implicit
o e 1 AR &
4.

Only assumption 1 is implicit

v

<

x




Q.39 fav 717 Fa= # AR HT a7 Hifaw F 39 g9 #7797 & Bw SR

F FT FUT TIT §

E2EH

(h O wiea wf Wiplae wEa Ui wgerdr ¥ |
(I vuie wepfe FEamst F 3 8 7 |

Consider the given question and decide which of the following statements is sufficient to

answer the question.

All natural numbers are whole numbers?

Statements:

(I)  All natural numbers plus 0 are called whole numbers.

(II) Whole numbers are different from natural numbers.

Ans x 1.
A F T & F AT 3 (1) vog ¥ =i s () It &6 g
(IT) alone is sufficient while (T) alone is not sufficient to answer the question.
X2
FAA FSEE e & o aar () a& () saa &I
Neither (I) nor (IT) is sufficient to answer the question.
W3
TS F G & F T ake (1) st § St awher (1) wea S 2
(I) alone is sufficient while (IT) alone is not sufficient to answer the question.
F
99T FT 3eal & F T (1) 3T (1) = & o2 £
Both (I) and (IT) are sufficient to answer the question.
Q.40 FTEIAT- YeeidT Sefe aTel SAfad HiA 6, A I H IeAGER (T9) ¥
wrhaeT T 7
‘Which actor-turned-politician is currently a Lok Sabha Member from Ahmedabad (East)
constifuency?
Ans mﬂ_fra-
r 8
Dharmendra
T ITdel
/.
Paresh Rawal
B E L ) iﬁﬁi
X3~
Shatrughan Sinha
x4 RIGIEG
Hema Malini
Q.41 v g 4% F1 Z1T W T 3,600 7 SATSAT &1 Tfe; 3T T 4,200 F <47 ST A fohe=ir
8T 21 g1t gieie
A fan was sold for T 3600 at a loss of 4% What would be the gain or loss percent if it was
sold for T 42007
Ans

x 1 gIfet, 129%

Loss 12%




ST, 12%

W2
Gain 12%
| e, 10%

K
Gain 10%
X 4 gIfer. 10%

Loss 10%

Q.42 g & et 7 Tow R Saami@dt § ¥ U s (Kilavea ST @!
T 81 T wel Teud 82

One of the most destructive voleanoes in recent times has been the Kilauea volcano.
Where is it located?

Ans xl an

Spain

SIRIG

' Japan
5 3 ERREL
Vietnam

gaTs

Hawau

52

v

43 o aTr Fedl # @ Tafdg o6 &1 I07 HIT:
JUMBUCKS : SKCUBMUJ :: SHIPJACK -

Select the related word from the given alternatives.

JUMBUCKS : SKCUBMUT :: SHIPJACK :

Ans 1. KCAIJPHS
/< 2 KCAJIPHS
/< 3 KCASPHIS
v 4+ KCAJPIHS

Q.44 FrEa F F9EET EAN HIEAA Fh, e aigat A Rrwer gea A8t ar
ST TeRaAT?
‘Which of the following metals is NOT obtained by reduction using carbon?

Al
ns ?( : m

Zinc

x4
Copper

Q.45 x? + ax + b N I x - 4 AN TIfET fFar ST § A 32 99 w=ar ¥ Ay
x? + bx + a T T x - 4 ZA Fenere G Smer ¥ 9 35 O weam £
a+b=7

Ifx* + ax + b, when divided by x - 4, leaves a remainder of 32 and x* + bx + a,
when divided by x — 4, leaves a remainder of 35, thena + b=7?

Ans x1_7
xK2-7




X323
.23

Q48 wraprer & FaTeH FETa fovHer SaRT Yer fohar w1 am?
The quantum theory of light was given by:
x HIZETSA

Einstein

Ans

Y7 wradr 2018 W 9RT F IE HN FiT &2
Who is the Home Minister of India as of February 20
Ans HYAT F0=T

Q48 g Hater |HC I UG o {A S A
Which Mughal Emperor was deported to Rangoon
Ans TEIGY 3G AT

' Bahadur Shah Ahmed Shah

Q.49




A w3 wAap T sgawn 7 afg gee 10 3T 3w 10 3Rt & smae
A 39 UBN T fHar o 7 ugen daR A aer 3R o, Iy RN
3ifae & ugel arer I 3T O gt A & afdwenfad & of i cmawer &
gifgat 30 & urear e 4 gen?

RB75E%M3W48Q9#B2ASMS

If the first 10 terms and the last 10 terms of the given expression are interchanged in such
a way that the first term is interchanged with the last, the second with the second last, the
third with the third last and so on, what will the fifth term from the right be 1n the new

arrangement?

RB75E%M3W48Q9¥B2ASMS

Ans x1_2
v2E
K35
X4 A

Q50 3707 T 3TE A AT AT HF FET HT T Fed 82

What is the number of atoms constituting a molecule known as?

Ans 1 TSR (Isotopes)

Isotopes
x 2 RHATOTE FeaATT
Atomic mass
5 qIHATTOGRdT (Atomicity)
Atomicity
¢, TS T

Atomic number

v

Q.51 @ o & T fdll & & seds & FEU v GA Hesd T ST S
# 37 faeT & 9 & S BF ¢ # RU v ga7 TS (?) 7 92 HhaT
G

12 8 16 7 25 21

LY 207 Y
A B C

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

12 8 16 1 25 21

At

80 207 ?
A B c

ans X1 241
X 2210
v 2184
X 4 321

: [

¥ varanis # fawull $ FET fhae g 82

The number of diagonals in a hendecagon is:
Ans ., .33
< 2 39




X340
X4 44

453 rfofee &7 7 @ e e &7 =3 &1

Ans (1.5
X 2a
K3
Kam

Q.54 forer afema wefeor & & 7« = SHRx = T F w9 A Rwogw d

HHHOT B FE w7 & @ a1 wehar 27
The two roots of an quadratic equation are given as x = %

be written as:

Ans X1 (2x—1)(3x+2)=0
X2(2x+1)(3x+2)=0
Wi (2x=1)(3x-2)=0
Xa@2x+1)(3x-2)=0

Q.55 37 e &1 999 ® A WFAfea HHA F

Mo
o Il elo U !

A B @ D
Select the option that is the correct mirror image of the following figure.

o

o Mslo Ulo 1
Ans x-]B

< 2D

v A

”<4C

Q.56




S 3 Al & el v Fer & S 5:8 § Fdie sk S Fala & dl
Jequra 7:12 81 S 3 SioFa & Sl @ A =2 §?

The ratio of the number of marbles that Joyee and Minati had was 5 : 8 while the ratio of
the number of marbles that Jacob and Minati had was 7 : 12. What is the ratio of the
number of marbles that Joyee and Jacob had?

Ans X'1.7:5
W2 15:14
X$32:3
Xas5:7

Q.57 Tn=feflE 4o &, v fEe (2) aaN RET 7w Har & 9 sty §
| Rw 7w Reredt & argafiva 9&f & =9 #1)

I-10, L-13, O-16, ?,?, X-25

In the following series, two terms are missing as shown by the question marks (?). Select
the missing terms from the given options.

1-10, L-13, 0-16, 2, 7, X-25

Ans o 1. R-19, U-22
< 2.H-8, J-10
< 3 R-8, U-12
X4 K-11, M-13

Q.58 22 #eT o= T T TFER TF & AT & 2 Hied 9 F5F = T8 & S
3T weae 3 e ¥ wEa § T 9
T HET T W T TH WEF W TSI T F T AT AR

A square park having a side 22 m has two roads each 2m wide running in the middle of it
and parallel to its length and breadth. What will be the cost of gravelling the path at the
rate of T 100/m??

Ans 1. T 88
X 2T g4
< 3 78,800
W' 1 T 8,400

—_— =

Q.59 TrrAfeET 3He & Tedsh H7 Hae UF a7 WA 5 di die THg & el
U TG ¥ 9410 7T AT 7Ag &

&

3

[

1

AN

6

[T

9

4

L]

7

A
d
4

Use each of the following figures only once and form three groups. The three groups so

SIAIO
JdN
[ AT

Ans 1.(1,3,5), (2,7,8), (4,6,9)
< 2(1,3,9), (2,6,8), (4,7,5)
< 3(1,3,5), (2,6,9), (4,7,8)
v 4 (1,3,5), (2,6,8), (4,7,9)




0 FeTsTt F TH TS S & 3GEA0T F TEAA|
Tdentify an example of a connective tissue in humans.

Ans «1. ﬁa

Muscles

Cell
nr
Fibres

F

Q61 Rw v ot Wegl % WEfod oA # g7 9€ H 94T TS
CLOUD : COULD :: SMILE :

Find the missing term for the related pair of letter clusters.

CLOUD : COULD :: SMILE :

Ans X 1. MILSE
X 2 SLIME
X 3 SILME
v+ MILES

Q.62 Fr=Atad sevl & ¥ frasd v vudie =1 afid 39 s e

In which of the following examples will an athlete have maximum accelerated motion?

Ans 2 Teh JeaTehl T 9T &i5aT

Running on a circular track
Teh WEhIUTT T2 93 gigar
Running on a hexagonal track
Teh 3TSEeHIVIT T4 T Eisar
Running on an octagonal track
TR HIARR T2 9T Eisar

. Running on a rectangular track

52

Q.63




T =T Joden = @9 A7 & = #R 77 9¥ # & PiF & (@) T

TFdeT H W THET ¥ W ITEOT (FAA §) F

T

Fa0 FH F 3N F§ AT A FF T o GES 5 A g
frsd:

1. FH FTAT Ageaqor 2

2. g5 ©e & foT w1 @ gasitar s 9=ar §

Consider the given statement to be true and decide which of the given conclusions

logically follow(s) from the statement.

Statements:

All work and no play makes jack a dull boy.

Conclusions:
1: To work is important.

2: One has to compromise work for play.

Ane ” Fael Ty 1 HTEOT I E
1.

Only conclusion 1 follows.
| erer ey 2 HeTERoT N B
| Only conclusion 2 follows.
1 3R 2 a3 e G
Both conclusions 1 and 2 follow.
|1 3R 2 Q=T et 6 F
Neither conclusion 1 nor 2 follows.

Q.64 0.0245 Fr TF TR Beet & T H 385 T ¥ & 5@ orEr Smeen?

0.0245 written as a vulgar fraction in its simplest form = ?

-

x

x

Ans ?{1 27
T 1111

- g
~< 2 —
270

.. g

<3 =

27

27
w4 —
) 1100

Q.65 T T ¥ 140 HeT T WREEH Fr 15 ThE F 3T 180 Hex T wReww
H 17 ¥z & 9 H oml &7 F war T 2

A train crossed a 140 m long platform in 15 seconds and a 180 m long platform in 17
seconds. The speed of the train was:

Ans 1. 66 fereiTHeT 9T Oe
66 km/h

, 75 faeirreT gfer g¢
75 km/h

, 69 fareitetey 9f g¢

69 kin'h

x

x




" 72 farerAReT 9y O
~ 72km/h

Q.66 WEaFDﬂFI'EFEIT %..,

Phytohormones are:

Ans x 1.
AMATYe FThaTaiT ol TenTTad et arer diell ganr Teaft oramas

regulators synthesised by plants influencing physiological processes

QT o &er arer uerey

substances controlling diseases

K2

v
FeRTT TRANUT 3 ToT STIATA f3Rr ST arer verey

substances used for photosynthesis

5 4
Bl o foIT AT [ A= aTel W@

chemicals used for peeling

7 o gTH 9TaT fFEed aue g B

One horse power is:

Ans

x ;. 786 1€
736 watts
v, 746d1E
746 watts
x 5 76471E
764 watts
x 4 T687T€
768 watts

4% 256 & fadsr TGS TUT &R 27

How many of the factors of 256 are perfect squares?

Ans 1 4
~ . g
K36
s

Q.69 f&w T HRAT WA FAfHR F T 9RA % AN Foll LT F FoId=T
37ETET FiT g2

Which Indian nuclear scientist is currently the chairman of the Atomic Energy
Commission of India?

T.TH. for FAR

A.S. Kiran Kumar
72 I 1Y
Selchar Basu

Ans

F R




3F|T9-E?I'FIT€IT

x s
Madhavan Nair
H. JI8=
xXa 3
R. Murugesan

Q.70 Fr=ifafad &= & e & v awus wyaad gl W@t $1 e Far §7

o

The minimum number of straight lines required to construct the given figure is .

o

Ans o114
X213
X312
X 415
Q.71 mﬁqmﬁwmﬁgqﬁﬁwaﬁﬁvﬁ:mmﬁw&mmm

Ans

FT TN IFFE HI B

FYA:

FE TTH TT TG TEA §| T ABHA S0

Torsd:
1 .79 &TF Fg T &
2 o WS T TS &

Consider the given statements to be true and decide which of the conelusions logically
follow(s) from the statements.

Statements:

No girl can jump. Some girls are swimmers.

Conclusions:
1. Male swimmers can jump.

2. Some swimmers can jump.

v .;rr-fr 1 3R 7 & 2 37Taor +ar §
Neither 1 nor 2 follows
xzaﬁﬂﬁw& 1 3TETOT LT &
. Only conclusion 1 follows
o, 13 2 S ST T §
Both 1 and 2 follows
x4mﬁw&234§mwm%

Only conclusion 2 follows

Q72 Frgy g F It F Felt fr g g ¥

is the number of shells for elements of the 37 period.




Ans ¥13 L
21
<30
X2

Q.73 s 7@ & gx e efofad # @ Sl @ 9 & 757 FEe
sl (s §7

India-born Sundar Pichai is the Chief Executive Officer (CEO) of which of the following
companies?

Ans

Microsoft

O Fm @ & E ot F e @

AR

1 2 3 4
Select the odd figure out of the g

304
1 2 3 4
Ans X1 2
<23
v W
X 41

o7 HaY FOX Wpias TET §:
The hardest natural substance is:
Ans :
F R :
Copper
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